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1. (a) Answer the following . 1x5=5
oo framaed Sed fa 8

(i) What is business environment ?

A ARc 2

(ii) Define National Income.

8 wiwg A WAl

Contd.



(ii) Write the full form of SAFTA.
SAFTA s wry favayp

(iv) What is balance of trade ?
AT Sy Ry

(v What is meant by economic
liberalization 9

WWW‘RW%W?

(b)  Answer the following (as directed) : Ix5=5
X ==
©TS Rt Saw f ¢ (g frgy o)

() India was one of the founder members
of the World Trade Organisation,

(State true / Jalse)

CIeTH T Afdrey searyee Sl
A Y29 foweg uiw o |

(8% / o faqg #)

(i) LEconomic growth always increase

economic welfare,

(State true / Jalse)

4 (Sem 5) BUENAG 2

o] HEH
ftaifoss RplCe T ST wTi
:ﬁi ® (9% / oG [T P91

“ 5 me Of
R national 1ncc
stimates of
(iii} The ¢

ia is conducted by
India is ¢ (fill in the blank)

| LR
oReT B W SR T
- 7w A =
(8 3% 799 T4)

3 i is
(iv) Monetary Policy of India

formulated by

(fill in the blanks)
& EEE
(FT I 27 D)

iFeT JHAITS

A

(v) The IBRD was cstablished in the year
v

(fill in the blank}

BRD ———— ba® Fo w4
G iy
zfz (3 5% 279 ¥

Conld.
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2

Write short answer : (within 30 words) 2x5=10
o[0T BEd ol ¢ (woby #e feede)

(a)

(b)

(c)

(@)

(e)

Mention two causes of regional imbalance

in India.

TAeITe wigfie (AN 5 IR TrEd
4|

What is fiscal policy ?
Trery S 2

State two objectives of IMF.
wiwsifes qu T 757 Srwe Srad 39|
Derive GNPFC from GDPMP.

GDPpp 1 GNP Bleredt |

Mention fwo problems of tea industry in

Assam.

SIS b7 Ms 757 e Srad |

4 (Sem 5) BUEN/G 4

3. Answer any four from the following : 5x4=20

(within 200 words each)

SFTSIAINT Rl sifdbre Tt fuml © (&St 00
g fo¥I9)

(a) Explain the importance of foreign direct

investment in India.

sigeade A ofere RiTraee ove
3 |

(b) Write a note on ASEAN.
ASEAN T @@ Wb (Gl ferai|

(c) Discuss the prospects of Food Processing
Industry in North-East India.

TEF-+7 ST YGRS T AEAS!
B 241 |

(d) What are the features of International

Business ?7
SEEes R (RS & &
4 (Sem 5) BUEN/G 5 Contd.



(e) Write a note on W.T.O.
W.T.0F @+F9 5! (Bl fordi |

Analyse the various economic and non-economic
factors determining business environment in a

country like India. 10

SIeda [isa @4 (e AT wAfr fadrae
T4 Bfen wiftfe sig wRroids Somaas [
4|

Or / 943}

Analyse the sectoral contribution of national

income in India. 10

TReIfe Sreg SINe Ja-fofes wfzam farsed
3901

Discuss the various Poverty Alleviation

Programmes introduced in India. 10

oREas wRnel afezs Rt 2we F91 [fen
- of5fAe SCEsA F4 -

4 (Sem 5) BUEN/G 6

7 i e A s o

Or / 993t

Discuss the problems created by parallel economy
in present day India. What steps are taken by the
Govt. of India to solve the problems ?

6+4=10

Teifs wieade T LRI % T TR
STETHA! 1 | S AT I SIS HIFNE AO©
TR AT AR S T

Discuss the problems and prospects of Industrial

development in Assam. 10

S 41 |

Explain the various problems of foreign trade
faced by the developing countries of the world.
10

feg Sagerdle omt Tz (ATTRS AfER crae
FYA =1 Rfew Ttz a4 |

4 (Sem 5) BUEN/G 7



Or / Y7

What are the objectives of World Bank ? How far
has it succeeded in fulfilling its objectives?

Discuss.

Ry (e ST & 2 @2 STmeTR e
FEeToid Tl (20r 2 SEnl 40|
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for the questions.

1. Answer the following as directed : 1x10

RiRpTR ©ors fral empried e il 2

Choose the correct answer from the following
options :

fRmned [ g et e BAed ¢

(@) Which of these is not included in
demographic segmentation of markets ?

BRIG (A TPRAE SIS TR Kerems
AT T2 ?
(i) Gender
ot
(i} Age

T
Contd.



i) Educati i ity in whi
(i) cdtiol (¢) The strategic use of a brand’s equity in which

fetmrr . the marketer leverages the brand’s good
(iv) Cultures :gz_;o;ﬂl%?)z{ﬁ;omethmg new is et
Aghe | o FTgerel ARE S I @ TR
FMETS (TR W —
(b) “The. heterogeneity across customer (i) Co-branding
experiences is due to people component of (irafer
services ". This relates to which feature of (ii) Brand-extension
services ? @ i
WEWWWWMW S (iii} Line Extensiqon
ST 2| G @ G wfos 3 APS
sbile (iv) Product Extension
(i)  Intangibility N TR |
] (d) Form of testing markets and getting customer
feedback of promising ideas is called
(i)  Perishability ATy TS e efsfem (feedback)
Bgre T (Promising) SRR 6 et 2
Kaisa (i) Idea generator
_ . H9e TeAfE
(i) Insep Argbility - (ii)) Concept festing
i) | qiReNg ol
(iii) Product testing
(iv) Variability Fisdha S
el (iv) Test marketing
4 (Sem 5) MKMN/G
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(e) TFast food outlets like McDonalds is ap
example of which marketing technique ?

O A Rol o g M
OB ot sifar cDonalds firsre

(i) Product franchising
A @peaiEfene

(ii) Business-format franchising
TR 2o army

(1ii) E-Commerce
E-sa15
(iv) Retailing

541 st |

() Which of these is not an advertising goal ?
FICRI® (B0 Ristot gy T
() Attention
N Sigser
(i) Desire
20, APr
(iii) Adoption
ST, sz
(i) Action
feman

4 (Sem 5) MKMN/G 4

(g0 A company that attaches the same brand
name to all of its products is called
approach. (Fill in the blanks)

B! iy Tl SRR AN @Bl @9
Al 2 BCE 3S @ 2|
(NfeT 212 o590 )

(h}  Consumer who has a goal oriented lifestyle
and for whom image is very important are
segmented 1n the category. (Innovators/
Achievers) (Strike off the wrong options)

e Tolcele! T Sl Siawaidl Awe
o< eifomR T11 A 527, (o Soreieis Fne
(T ©I9Te B9 AR 2 (WRRE/ 5757)

(i) In product development process forecasting
stage preceds commercialization and launch
of product. (State true or falsc)

BQ) G omfed SR «iad w9=
AR sifewian e afdfisacm sisre =g
| (8% (@ I9F )

(/) Pricing can be uscd to shape a brand’s
positioning and can attract or repel different
scgments through price discrimination
techniques. (State True or False)

VI (9T ALZHATS AR (I T 711 Rioag
(I Rifew Sl @43 oS w9 smeEs

BE (YR (W IS G
4 (Sem 5) MKMN/G 5 Contd.



Answer the following questions briefly : (any five)
5x4=20

ﬁ@@@ﬁﬁw@‘@ﬁmg(ﬁmm)

(i) Distipguish between intangibility of a service
and its inseparability.

(i) What is geographic segmentation of market ?
@R (Sifers Fefem a e

(i7i) What is packaging ?
(BrotieTeset (packaging) &2

(iv) Write what d
0 you know about '
endorsement. Colebrity

SR S g B g
(v) Define marketing framework.

fwtera o arers see oy

(vi) Writeldown what do.you know about
promotion mix. ’

& RoFm S swefieel s B et v

Wh'at are the constituents of marketin
environment ? Discuss. lg

et ARewia Boimi g fe iz )

4 (Sem 5) MKMN/G 6

OR / 7%

Discuss the functions of marketing.

Rolg Y] SHCEn 41|

Explain the different methods of market
segmentation with suitable examples. 10

TeR Rferasir ffey safe T4 BrgaerR I
il ‘

10

OR / 7%t

What are the various factors that influence
consumer behaviour ? Explain. 10

sl R AeiiRe w4 [ Rz (&0
-4 |

Explain how the marketer develops new products
and introduces them to customers. 10

BRI ot Beslfie WIEE (IS TS
@ TS AEFd WS ARea weiE e

OR / %1

What are the different stages in a product life
cycle 7 Highlight the characteristics of each stage.

Besifie TR S sl f[fon srfrmz fF 2
forst ~riE AR S
4 (Sem 5) MKMN/G i Contd.



Describe about the different distribution channel
formats and bring out the factors that affect them.

545
fafon fioeel QTR AR 90 N 91 B e
ST dolie T BoAMH T 0 1

OR / 723

What are the alternative and new additions to
conventional distribution channels ? Discuss their
effectiveness and weaknesses. 6+4

osfre fwwd afirmm Rew s 7 e Tz
7 TR FRIGHETS! Wi THeT0! ST 1|

Differentiate betwcen product promotion and
advertising. Also write what do you know about
promotion mix ? 4+6

Besiifie TR B S i Wed ol F
2UR FNCS Besiifire wa Sawa e [fEw &
i — vl -

OR / 741

Highlight the importance of advertising. In this
context explain how marketing goals are met with
advertising campaigns. 4+6
Rigatome SCIETRS! SrEd T | G TS TN
TEReld TS R ebEE a (S AL
77 forat

4 (Sem 5) MKMN/G 8 10000




Total number of printed pages—13
4 (Sem 5) FNMN
2014
FINANCIAL MANAGEMENT
Paper : 503
Full Marks : 80
Pass Marks : 24
Time : Three hours

The figures in the margin indicate full marks
for the questions.

Answer all questions.
. Answer the following as directed : 1x10=10
forrist SR T Rl ¢

(a) Total money outlays divided by annual cash
inflow = (Choose the appropriate option)

@ﬁmﬁﬁmaﬁéﬁﬂﬁwm%‘ﬂﬁ

7qe SRCA AAF W 8 (qanef g fefw )
(i) Payin period
LT P

Contd.



(b)

(i) Pay oul ratio
TR AT
(iii) Pay buack period
T2 (Al el < (o (9 Pl
(tv) Gross capital rccn\./cr period
G YE AfFRIT Bla
The future value of Rs 100 invested now at

Q
10% cqmpmmdcd annually afler three years

will be - (choose the right option)

TEACA 10% besqfes 2o 100 Tl Rfecatol
Ffret fofM <ema stge oM ofwy w1 24 ¢
ERIRRCERECEIE )]

(l) RS 133 approx
(ii) Rs 130
(iii) Rs 125

(iv) Rs 118

4 (Sem 5) FNMN/G 9

(c) “The financial leverage indicates the effect
on earnings created by the use of fixed-
charge securities in the capitalisation plan.

The statement is : (Choose the right option)

(i) True
(ii) Partially true
(iii) False

(iv) None of the above

Capitalisation Ter o fesre fixed
charge A FATS R fegfory S

avgs Aeid FwE FfacE @l financial
ZraTy leverage 9@ bl ST (el Tea fefn

1)

() 1

(i) S 7

(iil) ST

(iv) .\'ﬂ‘?im'@ RO w2

4 (Sem 5) FNMN/G 3 Contd.



(d) The higher the degree of financial leverage

(e)

(DFL), the greater is the financial risk
associated and vice versa, (State true or
'false).

et leverage 9 degree BN e (@l o,
e ﬁ*f’ﬁ’i’iﬁ@f Pz @ o = vice
versa A RoiSe #rvwe B I3 | (S wy
A ST fora)

The working capital is - IS YN
LT

() The capital invested in the business to
meet  its day to day capital

requirements.

AR R e Rirer Stk i
fRifre e

(ii) circulating in nature

RGN igieq

4 (Sem 5) FNMN/G 4

4 (Sem 5) FNMN/G 3

(iii) The excess of current assets over

current liabilities.

$oif (I @viafil boTf IR sifRatl

(iv) All of the above

" @A SIDIRAN

Current assets are twice the current liabilities.

If the working capital is Rs. 60,000, current

assets would be :

BT FeifE peT® (vea el | T GRS A
=¥ 60,000 51, 5eifS SToifer A 2 8

(i) Rs 60,000
(i) Rs 100,000
(iii) Rs 120,000

(iv) Rs 110,000

Contd.



(g)

()

The objective of a good dividend policy is

1o :

@t Tesl wtrosied oo S &9 3

(i)  Maximisce the value of the firm
SITIBI eTf AT 5t

(i)  Minimise the amount to be ploughed
back

plough back ${73 *=1 538 7Y T4 |
(iii) Tron out the fluctuation in earning
Y SIereg SEe) Aferary 9|

(iv} Prevent speculation, overtrading and

transfer of shares.

YHeldq speculation, overtrading SI<e
TEIG ARy ] |

According to the Modigliani and Miller
hypothesis, the dividend policy of a firm is
relevant, and affect the wealth of
shareholders. (State truc or faisc)

4 (Sem 5) FNMN/G 6

Modigliani and muller hypothesis S, @B
SR wreries A AR, 93l S
YT MRl T4 (B0 97 (7 S8a
forall)

(i) In the discussion rclating to conceptual
aspects of capital structure, we are not
concerned with the following rates of
return ©
TG 9197 AGFID SeAGAE FUeS Frare
(FCH rates of return WS fTany 4 w2 e
(i) Return on investment
fafrste 9t g o

(i) Cost of debt capilal
Qe AL TR

(ifi) Cost of equity capital
3537 e

(ivy Weighted average cost of capital
weighted
R GEECIEIE

4 (Sem 5) FNMN/G 7 Contd.



() . In financial management, leverage denotes
the ability of a firm to use fixed cost assets
or funds to magnify the return to the

sharcholders. (State true or false)

g +f¥pE (TS, leverage @ 2 B
fixed cost assel T4l e WANTE GA2R
IR AU FEAR T Tl T A
& | (B0 9 (7 Soe Brad 340)

2. Answer the following questions in about thirty

words each : 2x5=10

faarer w fooes Frare e e Ses i ¢

(a) State the finance functions

fedi SR BrEd w5 |

(b) State the meaning of Net Present Value
(NPV).

Net Present 3509 &< Trerd 3941 |

4 (Sem 5) FNMN/G 3

(¢c) State the meaning ol dividend
oo o Trad F1

(d) What arc the disadvantages of excessive

working capital ?

efstie SRR emd SRR I

(e) Statc the factors determining capltal

3 Answer the following within 150-

structure.

ST ol f Rl SAMIPTR Trad T

200 words cach :
5x4=20

#F5TBt 150-200 %93 foo1¢ faae &ies oo [l 2

(@)

Explain the difference belween gross

working capital and net working capital

Net FUIF ed S grossﬁt‘{@@?ﬁﬁ_
R We AL

Contd.

4 (Sem 5) FNMN/G 9



(b)

(c)

Or / g
Discuss the determinants ol working capital
PRIF o folataermd) vl ME WTW

RSl

I '
aborate thc objectives of financial

management.

ISR AT Boe e 2R e

Or / et
Disc iffe
1scuss different types of financial decisions

an ine their i
d examine their interrelationship

Rfen @z 78 Hiare s -
. T A AL 41

Statc th '
he consequences of overcapitalisation

AT RE yoradies
I .
S0 | FHAIFEH Trmy

4 (Sem 5) FNMN/G i

Or / T4t

Explain the implication of fixed cost bearing

securities on cost of capital of an entity.

Sl G R AT 8T fixed cost
bearing Afogfe Aold Tl 4l

(d) Discuss the construction and use of
profitability index.
Profitability o AT TF B ool

S GICTICEIR

Answer the following questions in about 600

words each :

600ﬁ%%\ﬁ6ﬁm@=mm®@ﬁms

al goal and comparc

n versus wealth
10

(@) Discuss the financi
between profit maximisatio

maximisation goals.

fﬁ@ﬂ. ) SEisal €9 s Profit
maximisation ¥ wealth maximisation

W—\gmwamnﬁml

4 (Sem 5) FNMN/G 11 Contd.



(b)

Or / aerar

Elaborate the varioys finance functions

discharged by a finance Manager.

foe

ROT @i Rifsy firg GRS e

T A9 A a2y g

(i)

A company rajses Rs 100,000 by the
issue of 1.000 10% debentures of
Rs 100 cach repayable at par afier ten
years. If' the rate of the company’s tax

is 50, what is the Cost of debt capital
to the firm » 5

R WI AT A AR g par s
AR 1,000 109 WA AT 100
TS (A 5l 100,000 Bt =uet syzey
P12 i 2 279 5 T, (STare

Wmmw‘“ﬁwmﬁvm
¥

4 (Sem 5) FNMN/G 12

(ii) State the meaning of Capital asset
 pricing model (CAPM). 5

Capital asset pricing model S1F =<
Trard 41|

Or / g4

lixplain the relationship between operatmg

10
and financial leverage.

Tr2lf¥% A Operating SiIF €7 leverage 9
e 2fTiEF ToAE A 341 |

_ )
(c) Discuss the various mcthods followed i

i 10
capital budgeting.

Capital budgeting 29% IR fAfSy &S
TS P4 |

Contd,
4 (Sem 5) FNMN_/G 13



(el

Or / oziat

lixplain the [actors determining the
working capital requirement of a

m;mufac.turing entity, 10

BT BRAMT ) Afediorq SrafsR symreny
Tl eI © Aluleq a2y AN T4 |

'daborate the [actors determining the
dividend policy of 4 corporate entity.
10

51 corporatc el cl1GrIRH Rreeag Ao
[einlqeRBIRY Berlineldivge 4ee3 Bray |

Or / gy

Critically cxamine the Modigliahi and

Miller approach on dividend.

4 {Sem 5y IFNMN/G I

4 (Sen 5) FNMN/G

sreTee @5 faai4ds Modigliani and
Millerd €=aR FAACEABARERR il |
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Full Marks : 80
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The figures in the margin indicate Jfull marks
for the questions.

Answer all questions.

FEET AT GG #[94 |

1. A Choose the correct option from the
following : 1x5

firare REsrmigd ~41 w% eIl ife Tistedl 3

(a) An agreement collateral to an illegal

agreement 1S

Contd,



Wam@ﬁﬂmﬁ ZAFE WA
IRH! AR Sl TR S

(i) Void
zifost
(ii) Voidable
Zifos1aal
(iii) Vaiid
[GE

(iv) Unlawful
wier 7R

() Whic
contractual disputes prior to
the Indian Contract Act?

4 (Sem 5) RFBU-1/G -

h law was applied for deciding
passing of

Cafest 2 e =y
(9 : English Iaw

3R B

([I) ROman LaW

QAN w3y

(lﬂ) Famlly LaW

oifSareT wizy

) Laws of equity

W\ﬁﬁwﬁm

4
: ' Contd



(c) The jcading case of Lalmon Vs

(tv) The offer must be made wi
Gauridutta (1913) pertaining 0 offer with a

view to obtaini ‘
relates to which one of the following ing consent of the

othe
aspects ?  party.
Lalmon Vs Gauridutta 7S T UIET S e (o ST
mmc%ﬂﬁ@mﬁm@@mﬁ-maﬁ@ SR Srme S =
FATTO ? ' A |

(d) A fire insy
o ' | fire insurance contra
(i) The offer must be communicated fia ct usually
s . ppens to be a/an
to the ofleree

s i
Wﬁ?@@l@ﬁﬂ“ﬂﬁ@@ﬁ B sitrice frae o

Ri[RY&| A:g?Tﬂ
GIDE =

(iiy The offer must be definite () Contingent Contract
xR S 2 AP WAl Ao s

(iti) A statement of price is not an (1)) Indemnity Contract
offer

fooeln pf

T Rgfes a¥R fm @RIR

| ' 4 (Sem 5) RFBU-1/G

4 (Sem 5)'RFBU—1IG 4 5
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(iii) Quast Contract

il

(iv) Voidable agreement

AT B

15 a

&mﬁﬁ@mﬁmmﬁ

(i) Contract of pledge

el I8

e
(ii) Contract of Guarant

Gifew THEE

6
4 (Sem 5) RFBU-1/G

(iif} Contract of bailment

e e

(iv) Contract of indemnity

ORI R |

B. Choose whether the following statements are

correct or not :

1x5
e ST o (o Siug By o

(i)  Oral contracts are very much valid

under the Indian Contract Act.

OREH WE pfe Wi wfhne iR
i e Ty pfes |

4 (Sem 5) RFBU-1/G
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(ii) Indian Contract Act is not applicable 2 )

. ) ; Howin . .
upon contract of immovable properties. 38 s, for ea lowing - (in not exceeding
: a

_ Hswer)
i 7§ Cre SRS R Wiz | R Repgzs syt s 2x5=10
oS T VW%@W@%)@ ﬁmo(aﬁﬁywmﬁ

| (@) Voidable Contract
(iii) There is no provision to withdraw an

IRl ey
offer made through post. '
Gl el APeal 4w 9aE oW R | B) Contract of gig

v b
(iv) Quasi Contracts are unsigned contracts.

(C-' 13 o
5 Surety is 4 Preferred debtop»

AP 3G TA SPITES TGS |

@ ~— Commeny
ey _

- WW@W”‘—WW
(v) Titleship transfer takes place (d)

immediately under a hire purchase operative soi
OClety

agreement. |
G TR e S
B i oiel s N e e TS|
e - (¢} Caveat Emptor

4 (Sem 5) RFBU-1/G 8 4 (Sem 5) REBU
' -l/G

Contd



3. Write short notes on any four of the following :

(Each answer should not exceed 200 words)
5x4

W_WWWWZ(SI@W@@?
200 *9 feqe 27 #AR)

(a) Distinguish between an offer and a contract.

ﬁ@@mﬁﬁawvﬂﬁ@%ﬂn

(b} Explain ihe need for existence of

consideration in an agency contract.
oifsflE pfre afenim SIPeel D S|

(c) Whyisan agreement in restraint of marriage
void 7 Discuss.

e Al TS IR A THES SN ISk
BT F4

4 (Sem 5) RFBU-1/G 10

(d) Discy '
ss the rights of an unpaid seller agaj
gamst

non-payment b
y the buyer

and also whe

n

goods being carried by the buyer

Wﬁ*ﬁmawk 7 2 7 i

1 carat
AN STge wejfimfes
SIS 35 o et

{¢)  Wh
0 can be
come a member of 3 co 0 i
o perative

(P e
URS @< 31 1 sy 2
9

)

Where
are ‘ '
the co-operative disputes fi
I
referred for settlement 2 )

SR ARy R
' T ety

4 (Sem 5) RFBU-1/G i
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e basis
i the various types of contracts on th
4. Discuss

Or
10 '
of validity, formation anc p What is meant by Consideration in a Contract ?
, - e o fafen 43N Also discuss the validity of an agreement in which
Fraet, 1o SE one of the parties to it is a stranger to the
Pialiclciniall consideration,
Or y’%@ﬁ%mm%ﬂw%m?ammﬁ%m
ANCNER R 21 oy 2 = (ST pie AAfRefe
by business law ? Also state the & ;ﬁ Bl il ¥
What is meant DY ‘ ' | :
ources of business law 1n India.
S
S ﬁs{@?ma}mﬁﬁw 6. “No seller can give you a better title than he
7, ' EIEIFEARIET himself has”. Elucidate the statement with
":.\I' fifer o KIr feratt cxeptions, if any. 3 10
of termination of a I ez few weets o TE oW ofEe
)i the vatious ways : : FIRIA 1" BT S a2w1i2 Bia s gfoes
> ‘DISCUSS does a Contract become impossible a;lmw, Fal apsivs 3T TR
Contract. How doe _ 10
to perform for the promissor 7

Or

. NGRS

s Rfen SR

i, ERC R A 5 A ST [l () Distinguish between bailment and hire
, ) = & FEe affrfs purchase agreement, 5
P foru1 pfe s it pige wreT sty Bra

12 Y
; 4 (Sem 5) RFBU-1/G 4 (Sem 5) RFBU 1/G 13
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(b) Distinguish between sale and an agreement

to sell. 5

ﬁﬁmﬁzﬁmwwww@
foral

7. Explain the following questions under the Assam

‘Co-operative Societies Act. (any wo) 5x2=10

Wﬂmﬂﬁ%@@aﬂ%ﬁﬁ%ﬂ@wmﬂﬂ
ol | (Rigeien 7o)

| (a) Object of the Assam Co-operative Societies

Act 2007.

2007WWW7@%@W@W1

(b} Co-operative Bank

TR (@F

4 (Sem 5) RFBU-1/G 14

(¢) Regi ’
gistrar of Co-operative Societies

R feq A

(d) Dis
pUlCS to be com q
. pulsorily ref; .
Registrar for settlement Y reemed fo the

vt A sty s
(299t sfeg aﬁﬂm'ﬁ;j;\j;@ﬂﬁaﬁwm
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FINANCIAL STATEMENT ANALYSIS

Paper : 505
(Specialised Paper)

Full Marks : 80

Time : Three hours

The figures in the margin indicate full marks

for the questions.

1. Write the meaning of the following : 2x5=10

(a) Equity
(b) Liability
(¢) Report of the Board of Directors
(d) Solvency ratio
(e} Fund
> Answer the following in brief : 5x6=30
(a) Write the constituents of Financial Statement.
(b) State the basic features of Income Statement.
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(c) Mention the contents of Annual Report.

(d) How is the common size statement different
from comparative statement ?

(e) Write the significance of Accounting Ratios.
Or

From the following information of a
company calculate 14+1+3
(i)  Current Assets
(ii) Current liability
(iii) Inventory

Current Ratio = 2-8

Liquid Ratio = 1-5

Working Capital = Rs. 90,000

(/) How is Cash flow statement different from
Fundflow statement ?

Explain the qualitative requirement of the
information incorporated in Financial Statement
and state the limitations of Financial Statement.
5+5=10

Or

Explain the relevant provisions of Companies Act
for preparation of Profit and Loss Accounts and
Balance Sheets. 10
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Define the term Composite Ratio. From the
following data, calculate

(a) Gross Profit Ratio, (b) Net Profit Ratio,
(c) Return on total Assets, (d) Inventory turnover,
(e) Working Capital turnover, (f) Net worth to

Debt. 3+12=15
Sales - Rs. 25,20,000
Cost of Sales ~ Rs. 19,20,000
Net Profit ~ Rs. 3,60,000
Inventory - Rs. 8,00,000
Other Current Assets - Rs. 7,60,000
Fixed Assets - Rs. 14,40,000
Net Worth - Rs. 15,00,000
Debt - Rs. 9,00,000
Current Liabilities - Rs. 6,00,000
Or

Write the significance of Financial Statement
Analysis and critically review the techniques of
interpreting Financial Statements. 5+10=15

Explain the procedure applied in preparation of
Fund flow Statement and statement of changes in
Working Capital. Mention the limitations of Fund
flow Statement. 5+5+5=15
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Or

The Statement of Assets and Liabilities of SPD
Limited as on 30th June 2013 and 30th June 2014
is given below :

As on 30th June

As on 30th June

Liabilities 2013 2014 | Assets 2013 | 2014
Equity Share
Capital 1,50,000 |1,50,000 | Fixed Assets {2,50,000 (3,50,000
Loan 30,000 | 60,000 Current Assets|1,45,0001,30,000
Sundry Creditors | 1,00,000 [1,50,000 | Underwriting
Bank Overdraft commission 10,000 7,000
"
(Long term) 90,000 1,30,000 | profit and
Provision for Loss Accounts; 40,000] 68,000
Depreciation 75,000 | 65,000
Total 445,000 5,55,000 | Total 4,45,0005,55,000

During the year an old asset costing Rs. 10,000
(depreciation provided for Rs. 6,000) was disposed
for Rs.3000. In the previous year depreciation
had been provided for in excess of needs and
hence the provision for depreciation was brought
down to its proper figures on 30th June 2014.

Prepare statement of change in Working Capital
and Fund flow Statement.
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5+10=15
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